< 3 3
28. IF tian 2 —1 =lhim “: “k,.men find the value of k.

=1 x—1 2 x" —Kk
.. I -
Sol. Given that lim = —2 = Lm i_",.
= x=1 Py -k

~ 4D)* =1lim (x— k) (x* + k* +kx)
o=k (x—k)(x+Kk)

x*+k*+ kx B+ +Kk°
— ==

= 4 =lm 4
T-ak x+ Kk 2k
SO NG |
2k > 3
S

Hence, the required value of k is ; A



’ cot” x—3
25. Evaluate: lim =
x-.:! cosec x—2

: cot- x—3
Sol. Given that lim =
:r_.;"_It COS€eC X ™ =

1 cosec‘x-l-3_limcosec°x-—4
x-.% cosecx—2 X cosecx—2

> s,
) lin: (cos ec x+-)(cos:cx 2) =lin£(cosecx-+-2)
- (cosecx—2) ==

Taking limit we have

s

“COSEC — *2 =2+ 2 =4

Hence, the required answer is 4.



15. Evaluate: liq sin 3x
=0 sin 7x

Sol. Given that lim &3’2
*—=Csin Tx
sin 3x 1i “sin 3x
3 x 3x 3;?3:»' 3
« lim X - \_JX

L Sin 5x =2
» T :

- .1.)(_3.-:2. [‘_'umsmle]
O 7 =0 x

Hence, the required answer is % :

" oS
Lm , SIn 7x



sin X

60. im is
=0 x4+l —fl—x
(a) 2
(b) o
(c)1
(d) -1
Sol. Given lim e
P iyl —Xx
sinxt.«/x-l-l -'r-f\/l—.\']
- m -
x—s0 x+1=Jl—x)(~fx+1+ -—)
sin xt--Jx+1+.\ﬁ-x]
“lim = =
e x4l—1+x
sinxi— 1+-\/
" lim L ]=% Asmx[ s =
- -r Z—"v

Taking limit, we get

= .I:xlx[.,/0+l +J0—1.§=%><1><2=1

Hence, the correct option is (c).



. sec x—2
61. im is equal to
X—o.; x—'l
(a)3
(b)1
(c) 0O
(d) 2
. sec- x-—2 . 1+tan®x—-2
Sol. Given, lim = lim
- -
tim tan* x—1 =i (tan x+1)(tan x—1)
+—=Z tan x—1 -3 (tan x—1)
. lim

T
; (mnx*l)-tan-zolsl‘lzz

Hence, the correct option is (d).



”

sin [x]

- o .

63. If f(x) = J [x] heg e where [.] denotes the greatest integer function. Then 1;93
{ 0, [x]=0
(%)
(a)1
(b) O
(c) -1
(d) None of these
Js:n [x]‘ [x] =0

Sol. Given, f(x) = [x]

0, [x]=0
LHL = lim 220Xy, S000 0], —sinl—H) _ _,

e [x] A=t [0—h) =0 [—h)



